Partitioned Numbers
3-Digit Numbers

1) Add the parts together. What 3-digit numbers do they make?

a. H00+30+9= ___ b. 700 +50 +3 =
c. 800+60+2= ___ d. I00+80+2-=
e. 200 +4= - f. 500 +40+1=
g. 600 + 80 = - h. 200 +7 =
L 300+10+1= - j. 500 + 80 =
2) The parts are out of order. Be careful!
a. 60+200+9= ___ b. 700+8+9 =
c. 70+600+2= d. 500 +7 +40 =
e. 30 +100 +4= - f. 6+900+3=
g. 80+ 700 = . h. HO+300 +3=
L. 2+200-= - j. 3+20+200 =
3) One or more parts are missing in each of the following sums. Add them in!
a. 500 +20 + = 523 b. 200 + +8= 268
C. +80+9= 789 d 4O+ +300= 342
e. 2+90 + = 7192 f. +200+ 6= 246
g __ +30+ = B h. +2+ = 652
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